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Multiplying polynomials - Fractions - Simplify product of monomials and trinomials

Simplify product of fractionswith two variables:

X2

1
1 X2+ xy — 1=y?
) 2( Xy 3y)

12m|1
3 mil e olmm- 2§n2
7 \2 8 4

4yl 5 2 1
5) —2[-y? + 2x% + 3=
) 3( y 6><y)

XY([,5 2 1 1,
7 222 - 15xy + =
)2(6 2973

1
9) 1Y wealiz- L2
2 8 7

2 1
11) = 2212+ Ly 1122
3\ 7 3 8

13) 7eb a? - 13ab - 1212
2 4 3

3

15) 3—b(7b2 +—a’ - 1§ab)
5 5 6

1
2) 8 o+ atm? + 1n2
5 7 2
7 2 3
4) 3—|xy+3=x* +=y°
) 8(xy 5 7y)
33x 3
6) —|-2y* - 2xy + 4—x°
) 5( y -2y +ag )

5.5, .1 3,
8) 32|12x2 +2=xy - =
) 6(8 g 4y)

Xy 3. 1,
10) —|-6xy+1—x"+1—
) 5( v 5 2y

(.2 1 1
12) 1=[2=x? - 2=xy - 1=V?
) 2( 5 4Xy 3y)

11y? 4, 5,
14 +3-x2+ 1=
) 5 (xy . 2y

sy, 1 , 1 2 5
16) —(4—-x"-2—xy+1—
) 6( 2 6Xy By)

51, .3 4,
18) 22[1=x2 - 3=xy + 2~
) 6( 2 g 5y)



19) 330 (4§x2 + 3§xy - %yz) 20) (m +mn+ Zélln )
21) %(1ix2+;xy+éy2) 22) 11Txy(xy+4:x +42y)
23) %(Zguz +éuv+$v2) 24) 1 1( yr+2x3 - 1= xy)
25) 1%(8x2 - 1%xy - B%yz) 26) 1%(6u2 + 1%uv - 8%v2)
27) @( + 1§ab + gbz) 28) %(%xz - 3§xy + S%yz)
29) 1~ (Zy RPENITE xy) 30) 11a’ (a2 - 2ab - 11b2)
8 8 3
31) 12(%% - 1§xy + gyZ) 32) 1%(—2n2 + %mZ - 2§mn)
33) 3x:y4 (xy + 8%x2 + 1§yz) 34) 15;:3 (1%m2 - 3§mn + 4§nz)
35) 7);3y (xy + 1§x2 — 1%y2) 36) %(x2 + Bxy — 1%y2)

2
(1, 1 ) 1,3, .5 1,
37) —[1=x% + =xy + 1= 38) 1=[12x% - 3=xy - 2=
) ( 2><y y) )8(5 7><y 6y



1 3
39)

2uv + 11u2 + 1Zv2
3 8
1
41) =(u® +uv - 212
4 2

2
3) 2(ataz 11200 + 4212
5\ 20 3 7

3

3 4
45) —(4a® + 3=ab + 1—b?
5 4 5

3y 52
47 1=x“-2—xy—-—
)8(8 3xy y)

3m 1
49) — 5 m +33mn 2=n®
2\ 7 4 8

3y(3 2 5 2,
51 +2-xy+4—
) 5(5 7xy 3y)

241, 2 2,
53) —|1=x* - =xy +—
) 3(2 3" 3Y

5(, .4, .1
55) 1-{y? +1-x?+1=
) G(y . 2xy)

By, , ,2 1,
57) —>|2x* + 4=xy + 1=
) 6( 3 Zy)

40) —=
1(.1 1 1
42) 1-[2=x* +5=xy +2=y?
) 2( 6 2 Gy)
1 6 ,
44) 1 +—x*-1—
) 8(y - xy)
1,52 3
46) 1= 12y 413
) 4( g< T1w y)
24
48) 24M(002 _ mm + 32m2
5 6
1(1 5 3
50) 2=|=x® + 1=xy + —y?
) 2(2 6 4y)
XY(,2 ., 1 1,
52) =25x - Zxy+ 1=
) ( =X TN y
1
54) Ll YRR
2 4 5
56) %24u2+44uv+ 112
7 5 4

2

2
58) 121102 + 1200 + 212
372 6 3



5(1, .1 2,
59) 1—|=x?-1=xy+4=
) 6(8 4Xy 3y)
61) 1 —n2—6mn+1§m2
3 7
63) —
X 1 3
65) —[2y? +1=x*>-1=
) 3( y 3 4><y)

1 7 1
67) ﬂ(ng2 +—xy + —yz)

6 1
69) 23w+ Sz sty
7 7 3

71)

73)
75)

5 1
77) =|2n” + 31m2 +im
8 2 4

4y 2 1,
70) (2= + xy - =
) 3( Xy Zy)
x2 (5 5
72) S =x% + 25xy - =y?
)4(6 Xy y)
74)

6, 3 3,
76) —L{1=x® + =xy+ 1=
) (7 4xy y)



5
79) 35n

2m? + 1ﬂmn + 1§n2
7 8

81)

13xy* (.2, 1 4,
—X +3_ + —
( 7 8Xy 5y

83) —(§x2+4§xy+§y2)
s5y[(.1 , 2 1,

85) —|3—x"+3—xy-1—-
) ( 3 3y 7y)

1 1 1
87) 13u \?.Zu2 - —uv+ VP
4 8 2 2

7y, 4, 2 1.,
89) —|1-x"-—xy-3=
) 8(7 5xy 3y

91) 3—(x2 + 3%xy + —y2)
2
93) ﬂ(slxz ~12y+ §y2)
95) 1(\?.—m2 2 s 4§n2)
3 4

97) ZE(—ny +1-x° - %yz)

53 (.1, 1,
80) —|3=x?-3=xy-1=
) 4(4 Xy y

32, .1 1,
82) 2={15x2 + 2=xy + 2=
) 4( 7 5" 2y)

1 4
84) 190024 4y - g8y
5 \7 7
12 , .5 1,
86) 1—-|—x"—-1—xy+2—
) 2( Y 4y)

88) 11(b2 + 422 + 22 a0
5 3

90) 12(-2ab + 282 + 1102
5 5 8

6m?n

92) 1m2 + 31mn + 3ﬂn2
5 4 5

y[ 2,1, 1
94) Z{-y?+=x2+=
) 2( y' 3 2><y)

22x3

96
)5

(—7y2 + Xy + ngz)

98) ﬁ(

3, .1 1,
"X -3Zxy+ 2>
6 2™ sy)

7



3
99) Motz 1ty -13
AR

101) ot 12 EENVEPLY.
2\'5 3 6

103 2P _ o ap -3t
5 1% 2% 11

51a?
105) 22 ( L

5-a’ - 9= ab+—b2
4 11

1
107) 1-2{2n7? - g - —n?
11 11

19n(1 6 5
109) —|=m? = —mn + —n?
51\2 11 12

111) H(

1 3
5X% + =Xy + 3=y?
2xy SY)

20x%y (1, _2 1.,
=X +5-xy + 1=
9 (4 o™ oY

113)

1 1
115) —(6y? + x> + =
) 12( y 6xy)

X2 3,
117) — +1°2x% -12
)2(xy p y)

104)

19y? 152,
12 7

xy+ Y)
2 > 1, 1
106) 1—|-2y“ +5—x - 1—
) 9( Yy +55 2xy)

2 1
108) L( %xz——nyr y)

49x° 9
110 1— 1— 5—
) 0 ( >k A y)
2 2
112) 7 +2 xy 3y

1
114) LN SRV
9 2 12

116) 12 4§u2 F 22— 222
9\ 7 12 7

36b°
11

52
12

118) (4ab +—a?+5= bz)



129) 15[ + 325+ 32
121) 13(—3/2 RN 1§Xy)
123) —(—2y2 1wy + lxz)

10
B 53

5[4 2, o 7 6
127) —(5—x“+5—xy + 3—
)4 ( 1YY

129)

3
131) 22 (422 -1 L+ 3242
8 10 2
1(,1._ .3 1,
133) 1=[1=x2 - 15xy + 3=
) 3( 2 2" 4y)

4
135) — ia — 2 8 ab 1= b2
7\ 12 3

Lo T 1
137) —|(1— -1— + =
) 10( 2 Y 3y)

120)

2
23ah —ab + 133.2 + 6ib2
12 10

124) —( 2n +12mn+1;m)

126) ﬂ(—xy 8., .4 2)

+§X - 1Hy

128) 2%

sy

132) ﬂ(_xw 252, lyz)
11

134) —(2_32 —2=

136) 5L(2 S0 1-xy + 1y2)

138) =—



5m? 4
—-6mn + 3§m2 +—n?
2 6 5

139)

10x(2 , 1 1
141) —=|=x® - =xy - 2=y?
) 9 (3 2 4y)

2
143) 33024120y + 22
5\ 9 73

1 4 1
145) —(u? + 1—uv + 1=V?
11 7 2

17y% (.1, .1 3,
147) ——(1-x"-1-xy+2—
) 6 (3 S ryd

149) %(2 2_1

9.2
XXy +2—
2\3 4" 10y)

3y
151) “2{25x2 +4-2xy + 6=
= xy

10,,,5 1,
117 M2 Y

153) 3ton2 + 4%+ 13m
2 9 5

X[, 5, 2 35
155) —|1—x“+ -1-
)4(9 3xy Sy)

71u®
u (Zv2 +12uv + 6§u2)
2 8

157)

2
140) =2

142)

144) —

146)

148)

150)

152) ——

154)

156)

158)

4a 11ab + 11a2 + 1b2
3 5 3

2
S 21 oy 13b2
6 12° 1

52m
m +11mn 14n
4 7

X 7 2
—{2x® - 1—xy + 5=y?
4( g 5y)

y (.1, 4 15
—|1-X"——=xy+5—
4(3 5xy Sy)

1
How+ 5707 + 3202
3 9 3



159)

161)

3 5
163) —(—xy +4=x% - gy2)
165)

167)

a1, .7 3,
1-x"+1—xy-1—
( 7 1YY

1 1
169) 1= 1302 - 12mn+ 1102
8\"5 7 2

4y(1, 3 1,
171) — 25X +5>xy - =
) 11(9 8" 2y)

173 22 (ix2 ~2-lay-1t 2)

2——xy-1=
3 \3 12772

175) —(2 L +ixy— 1£y2)

177)

2(1, .3 3,
160) 1-{-—x? +1-—xy +—
) 11(10 10”7 sy)

X 1 1
162) —{10x® - 2=xy - 1=vy?
) 2( = Sy)

2
164) b” 1282 + 51 ah + 3102
3\'5 2 5

11x2 11 4
166) X( LA )

5+ xy - —Y?
g 100 127 1’

168) —|—m? +—mn - —n?

m(9 , 11 4
511 12 7

5y° (., 7
170) i(z—xz 4525y - —y2)
172) —(—u 3—=uv- 1—v2)
174) 3 3 (—u2 + 4§uv + 2§vz)

5
178) 52(1242 ~ 1 ap - 22
5\"5 8 12



15x (1 1
179) %[22 - 1 2
et )

3., 1., 1
181) 5={5y% + 2—x% + 4=
) 4( ¥ 0 7xy)

3y?(_9 ,
183) =X [5=x2 - 3=xy-=
)4(10 9Xy 3y)

7(.3, .2 3,
185) 1—(32x% + 25xy - 3>
) 10( 5 5 4y)

187) U8 2 e3 Y ve 122
11 10 6

37v

1
189) —65u +5—uv - 3§v
6\ 8 4 4

191) 12 0%+ 2287 + 41 ah
9 7 12

193) 12(—2y2 + X2 + 2§xy)

3b
195) —|-8b* +a® - 2 ab
5 10

2mn

197) 512 4 61mn+ 1102
8 9 2

180) 2 I
9g\100 3 5

182) 11 5m +57mn+66n
2\ 7 8 7

mn( 9 1
184) —(—m? + 13mn+ 12
4 \11 5 3

2
186) A4x ( 3,

4 7
4—X"+—Xy+3
7\ 8 1 11y)

B[ 1o 2 6
188) 1 —Exy 2=
) 9( 2 T3Y 7y)

14y*(.2 , 5 1,
190 1552 +12xy - 1=
) 73 ( 3 7 2y)

192) 71ab b2 + 2 a? + 5 an
12 10 6

11x(, 1 2 3,
194) = 21X -15xy+>
) g ( 10 5" 5y)

8 1, .7 7,
196) 1—{4—x? + 22Xy +—
) 11( 11 8" Sy)

4y2 2 2,
198) ——[2y? - xy + 1=x
) 3(y Xy 9

-10-



2 1
199) —(-2n? + 53m + 1
11 7 4

37y*(3 , 3 4 ,
201 Zx? - Zxy+8—
) 4 (5 Pied 17y)

121xy(, 1, .18 5,
203) 2 [1=x2 - 1—xy -~
) — (3 197 Gy)

1 9, .8,
205) 8=[-7xy+5—x>+1=
) 2( SRS 9y)

207) — reb(4 2% + 620k -2
9 |50 P16 11

1 2 139
209) ={9—=xX* - 2—=xy - —Vy?
) 3( 17 15" 17y)

5 1, 14,
211) 2—|2xy + 1=x? - 8=—=
) 13()(y 4 15y)

3
m
213) —|19n% + 7Tm? - 3-Ltm
5 10

7y(1, 9 1,
215) —2[=x? + —xy + 7—
) 11(6 107 1oy)

52 1
217) 22— 130y - 12
5 4" 3

5 2
200) =|x® +6xy —1=V?
)6( Xy 3y)

202) E v +9tu2 - 31—Ov2
4 6 17

17
204) UL e e L
17\ 18 19 18

3
206) X32’ (2x 3l S+ 419y)

208) 25b(

7
La2-Laprg>p?
6 11

20 18

11

1
210) 338(1702 + Lo - Lp2
19 1375

3., .1 2,
212) 32|2x% + 1=xy - —
) 4( 4xy 3y)

1
214) —(m?® + =mn + 322
7 5

<l 3 8
216 8-=x2 + 6——xy — —
) 8( 19 207 13y)

218) 7x y(9 2

6 8=~
4 \10 o y)

-11-



219)

221)

223)

225)

227)

125u° 3
12 5 4

205x° [ 14 2
8—X* ——xy+7=
19 ( 19 Xy 3 y )

181 a2 g tan- 2y
13\ 15 17 13

9Xy5 2, 1,
12xy + —x° - 2—
17 ( o 3 3y

3y(, - 1 1,
—|2x“+9—xy+1—
A SRORAREY

229) ——

231)

233) ——

235)

237)

53u(5 , 11 4,
1316 14 5

3ab? (

1a2+6 > ab—lb2
14 4

7 14

oy 1 7
—|6—= 10 9—
5( 6 xy Zoy)

1_c7)X2_ 14 .2 2)

222) 100 2ab+1852 + g3 12
7 19 14

1 3, .1
224) 1-— +2x2 +87=
) 11( 2y 4 13Xy)

77mn 1 1
226) (—n2 pE )

1="m? +6=mn
19 2

228) E(az - 2ab - 2§b2)
8 5

112y(17
230) —y(—xz +

4 5,
2oxy+ 7~
o Xy y)

20 5 7
4
232) —(Bix2 —-2=xy + lyz)

1
234) — 112+ Ly e 1082
20\ 3 2 17

121, 5 5,
236) 2 +—xy +5>
) 7(9 1Y 6y)

3ab® 10

-14b? + 7—a?
11

238) + 1%ab)

-12-



1 13, 1
239) —|14y* + —=x* - =
)18( Y 14 4xy)

2,
241 17y% + =x% + 8—
)7(y c xy)

243)

32mn (9 8
9

218+ 6217
10 8
403, 1 1,

245) Z[5°x% +1=xy - 1=

) 7( 7 2" 7y)

5 2 11
247) W8 e Sy L2
2 11 3 16

51011 0, 6.1 1,
249) 12{10==x% +6-—xy - 1=
) 6( 20" 14" 3y)

17y 8
251 +10—
) 9 ( 15" 3Xy oy )
2
253) 2 (63 424 ab L
2 \"11° 7
3
255) 29n _omn + 4212 + 5t
4 6 13
257) 32 (72m2 Z 13 m 1L
1\'16" 8 12

240)

4
L ( 202 - Sap+82 b2)
11 11

242) 02L(on2 — 2 + 8107
17 6

244)

19 9 Y 20

(18 e 52, - lgy2
20

41xy(, 11 , 8 3 5
246) Y [17252 -2 Sy - 32
) 5 ( 12 17”7 1oy)
1uv? 7
248) E’ﬁ(—zo\/z - 2uv+1—0u2)

1 2
250) ib (3 +2— ab+7iob2)

40y 1, 1,
254) —|-8xy + 1=x° +—
) 7( Xy 5 4y)

256) BTxy(sz + Xy + 1£y2)

77xy(, 13 , 2 3,
258 10ox2 +—xy -1~
) g ( 160 1570 4

-13-



13m?

(m2 +2mn + 1%n2)

7 3 3
261) 2—|2x% = =xy - 1—V?
) 12( 7Xy 1oy)

263 17x% + Txy + 3—
)3( Xy Gy)

3( 7 4
265) —[1—u? + 8 1y + 202
16\ 20 20 11

7 14
267) —[y? + xy + 1—x2
) 5 (y W+l )

4 7
269) 1—|4a® + 7—ab - 2—b?
1 7 8

1. 1 1 2
271) 9=[1—x%> +1=xy - 2—V?
) 2( 15 sxy 5y)

4n
273) —(14m2

7
+—mn+ 9En2
19

15 20

275)

121x2( N, 7

+7-—xy +8-—
20 \“18° T 12y)

4
277) 182 o 2
17 9

260) 11y( 22 18- xy+92y

15 15 9

262) Yl ow+ 7£u2 _13
10 13 4

1, 1 11 ,
264) —|1=x* + =xy +8—
) 13( PR R ARET

]

112ab*
266) 222 _[_10ah + 542 - 2112
1 2% T
76x[_ 9 1 .3,
268 8 x? +5=xy - 3>
) 15 ( 167 g sy)

7 1 2
270) 121002 + Lo + 1202
6\ 9 13 3

272 +1—xy-1-
) -1

125x2 =l 5 10 1
13

3xy 8 , 6 ,
274) —(16xy +2—x" ——
) 4( Y 11 17y)

276) 72 83m2 +6-2mn+6-1n
13\ 5 17 12

278)47(9 X2 +

1
6 2
15\10 YT 13y)

-14-

2)

7



35a° 3
16

1
285) 239002 + o + 12
20 14

1
287) 1322+ L2 +5-Cm
7 18 12

1 1 2
289) 1Y s me 4 5t - 122
2\ 15 3 3

8x 1 9
291) —|y*+=x*-2—
) 9(y 2 11Xy)

293) @(E 2_ 32t 5y2)

X*—3—xy+ 10—
3 \7 12Xy 6

83y

295)
10

7 8 2
8—x*+2—xy+1-—y°
( 10 13”7 15y)

4y 3, 10,
297) —|17xy+—-x"—-—
) 5( a4 7 17y)

+9— ab +10— b2
10 19

5
280) 9222 4580+ 122
17\19 7 17

282) 32 (1122 + 2L ab - ——p?
19 10 10

284) 2—(—y2 48052 Exy)
286) =

1 10 5
288) —|16y? +1—x%> -1=
)5( y 13 6Xy)

2

118y? | , 4,
290 +2Xy + —X
T (y ST )

292) —|—u"-1—uv-3—v

41v(10 , . 3 9,
19 20 20

6
294) —(20uv + 112 _3l
13 9 16

206) 2313 2+ S ap+ g2
7 1a% "0 1

298) 10— © (10322 — 13 ab + 2212
14\ 5 16 19

-15-



21y? 77mn?
200) XY [_gxy + alx2 4132 300) ~M™ (502 _ i + 422
11 4 5 9
301) — 4x(15 X% + 43xy+ 13§y2 302) — M2 218 m+ 232 2
5(32° "8 8 22\" 21 40 25
14xy®
303) 7 31211202, 8 304) 315(1%02 + 9L n + 102
39 2 31 3l 19" 12 27
97y* 21 19 , 179y 8 1,
305 1925 + 152 yy + 22 306 2+ 21—xy—-=
) 12 ( 29 20" 31y) ) ( 1YY
23 8 16
307) Z3(28y? + 10-2x2 - —xy 308) 19 - 58 Eu2 +3 uy + 20y2
29 12" 27 26 17
17 2
309) {112tz - 1 P04 4202 310) —Ga 14352 + 3324 - 2py?
19\a1 23 13 26° 12 3
25(1 , 17 1, 311xy 9 , .16,
311) 22°5(=x? -1 xy + 21~ 312) — | 2xy +1—x*>-1—
) 37(2 28" 4y) ) 22 ( YT % 197
7 7
313) 2262252 - 10ap 4 5232 314) V(2450 + 300y 13 2
27\ 22 7 38 13\ 77 40 47
315) 10+ 8 2 120, g-Ln2 316) 461n Doy Emn 1y
" a3 15 34 \"26 28 29

X[(o0 7 5, 17 1, 21y* 9
317) =[21-—x® +5—xy += 318 —24y? + 21—x° —3
) 2( 12 24" 7y) ) 16 v 38 6"

-16-



463x (17 , 2 403v° 1
a19) 20172 2.0 L2322 a00) 203V (390, .18 10,
19 (217 9 6 24 \36° 327 19
321) 13u 12i 1§uv+ 8§v2 322) 19 ox2 +ixy+ 11—9y2
9\ 200 "4 36 27 23 23
76x 13, 32, 8y %, 1,
303) X [o1xy + 5ox2 + 25 304) Y [-17xy + 622 + =
) 1( SRRy 39y) )5( VIO TS
1330/,
325) 423|122+ gdy - 3102 326) 02 = 2 o 1 6192
a1\ 31 o 30 50 10 23
1 115x2 (7
19 (2 13 27 9 9 27
1 221
320) 12132 - xy+5 % 330) 222M°(9 o 1 12
7\7 18" 24 \13 1
11x%y? [, 5 , 23 16 , 5(.8 , .10 1,
331 1—x“+24—xy—-1— 332) —[1—x*+1—xy+—
) 238 ( 41 33" 257 ) 14\ 11 233y
4 1 7
333) XM (ol - Lo 34t 33q) BX(32 g4y 1132
46 2 13 16 24 \5 7 14
633x(,3 2, ,, 8 35, 24°( 0o . 3 o, .5
335 1+ 12y + 247 336 10y2 + 15> x2 + 1>
) ( 1YY ) ) a1 ( ST 67
253v° 2.2
337) o3V 11§u2 GEuv— §v 338) Yy -31xy + 1£x2 _ 1ly2
21 (733 % 8 38 16 20

-17-



2
339) S8 L ey L2
43 \ 10 40 9

341) 695b 1822 + 18— ab + 417
28 " 40 34 9
47mn?

3a3) 2™ 151 e 130 maeln

36 18 47 2

41b

345) — D 2 ab 710b2
25 \" 43

15(,,23 ,, 18 19 ,
347) [1155¢% + 1 oxy + 3=
) 26( a1 YT 2oy)

296mn? [, _ 1 7 11
349) 22 117 2 2+ 1l - 222
23 |2 8 16
37 . T 14,
351) 18-~ -t
) 15( T YT 27y)
191x°
353) X (53800, 1128 11822
50 | 50 29 1
29(,12 5, ,c3B 6
355) V(17652 4 o520 2
) 23 ( 5% T3 25y)

7.
357) 10> (L a2 + 12> ap - —b2
13 10 23

2)

25 1 2
340) —{==x® + 1—xy + 20=y?
) 11(46 10" 7y)
37(11 72,18 19
342) 12—[11—x* +1—xy+1—
‘ 46( 26 279" zzy)

5(.19 , 11 9 ,
344) 15—[2=x2 + =xy + 14—
) 18( 26" 127 1oy)

19
346) TX( é 2013xy 4132 y)

4
348) 380x™y

11 , 11 ,
37xy + 5—x° + 15—
( a4 49 28y )

10 7 25
350 ——x2 +20—xy + 25—y?
) 47 (49 34Xy zgy)

352) 120 213u2 LAY iv2
33\ 23 31 37

2
354) 231202+ 12— 22
5 3 13
%a 5
356) 222 g2 4 1631 ap - 1Ly
a0\14° 49 21

1(,17 > _ 55 28
358) 1 - 32xy + 16—
) 6( 5" YT 33y)

-18-



3x* [, 4 2 47
359) — -1—xy+21—
) 4 ( 15" 3Xy a8’ )
361) Som(, 11 m? + 24— 27 mn — in
47 28 44 15

11n? 1
363) (6292 — 13 + B2
20 \ 39 9 14

7(. 9 17 2,
365) 12—|1—x*+23—xy—1—
) 10( 23 20" " T13” )
1
367) 100/629 2 1 2420y + 8212
11 22 7 5
63xy2 , .10
369 32 —Xx°+ 12—
) 13 ( v+ 39 Xy)

371) 72(24 042 4 123L b——b2
3\ 43 38

7 2
373) S87b 12 ab 1 b2
24 32

375)— 1—3 2 11+ 10£n
10 29 5 35

377) —— -1—mn-1-—n

13m(, 11 , 28 28
16 {713 33 45

5(.1, 8 8 ,
360) 1—(8=x% + 25—xy - 1—
) 16( 2 25" 11y)

12y°
37

7 26
20252+ Ly 2By
( 10 18Xy 35y)

ary(, 4 , 5 6 ,
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393 r1ixy+13 L 304) V(165552 + 137 xy - 1>
) 12(42 g " y) )33( a2 YT 43y)
ox 1
395) ——|37x% + 8~ xy+23 25y 396) 3i 7t lristye
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400) g(lixz +20

402) —2-

9\ 33 2

404) ——

11x(10 , 25
197 "3

2
a06) 129 (1§x2+E

29 90 56

1 ,
)

46 ,
89y)
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3

Al 1 1
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21 |85 T U3 10 28 67 95

39y° 7, 51 , 38 6, _58,
421 +1-0x2 + 2922 R L
) % (Xy 19 56 ) 20\ 7Y 81’
121 1
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b 49 n? 56 22
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10 96 35\ 23 57 31
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1 25,
76 31 43

1 (70
435) 20—(—x2 + 11=xy - =
) 28(89 Y 36Y

s36) {02852 + 102 38 ,
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437) 21322 e 122 o1 22 438) 139(102x2 47§xy—1fy2
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439) — =X+ 12==xy + 8=
) (13 6Xy 76y)
441) 43 NG +46 xy+38 y
77 37
6(,1.2 2
443) — +39—xy + 41—
) 91( 7 oxy 25y)
2
445) 83243212 - Zyy + 1242
%\ 35 3 10
4 A
447) &y 1iX2 +3—xy+ 6§ 2
7\33 37 46
a9 P (1002 4Ry 4 1 L2
34 47" 39 19
3
451) >lm -95mn +£m2 +4O£n2
55 24 12
211x%y [, 53 o8l Lo
453 19=—x? - 1—xy+—
) 62 ( 72° T
31( .17 , 17 8
455 36—x* + +—
) 77( 32" T3 25y)
341x(, 11 W2+ 4
457 1==x2 +—xy + 13—
) 98 ( " T y)

1
440) l(—oxz S22, 3 2)

11\ 77 79xy 14

2941 40
442) - (82uv 2 ivz)

—u -1
89 37

5
444) =31x? +14 + 44—y
) 6( xy my)

154b 1,

446) ———|-84b* +=a’ +29-"ab
13 3 44
4933
(L Moy 11D
27 (4% " 24 97

1 1 13
450) 33—(-79n% + 1=m? - —mn
82 2 60

24(,,39 , 3 1,
452) 445=(27°2x2 - Sxy + 40~
) 49( 6" 7Y ey)

454) 3411x° (6 2+ 323 1 2)

+325 xy +
70 \73 6" " 597

456) ( 5 15 67 , )
7\11"

2431=uw+21—v
16 78

7 24030 19 ,
458) —{23——x? + 42 ="xy + 36—
) 3( 68 707 74y)
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459)

461)

463)

465)

467) —

469)

471)

473)

475)

477)

7
W u’ + 15iuv - lv
85 17

25— 63 12£a2 + 25§ab + ébz
67\ 13 4 32

8(2,, 2 29
41(3 YT esy)

761x°%y (59 11
X7y —x2+202xy——y2
56 |82 65 23

ON[158 12 4 302 1 + 26212
3L\ ¥ 21

S5x(3 , .5 4 ,
—|—=x"-1oxy+1—-
76 (46 7xy 5y)

1 7(3465.2 .
o|>" 66"

11
+15— 2
oxy 7y)

27
M( 582,

192
6 \ 72 46 357

504x°%y
19

13 34,
45=x2 + 25— xy + 44—
( 5" 229" 53y)

23(..3, 7 2,
135+ xy + 15
34( 4" 197 sy)

460) Zly(

54
X2 - 96 xy + 3122
13 95 = 71y)

53xy 27 5
462 43x% - 33xy + 11—
) 27 ( o 41y)

1
464) 35— (12 —ab + 39112
34\80° 6

11
466) 152{ 11 + 32221 - o
48 77 14

2954x%y? 11
468) 294y” (12)(2 19 yz)

+3—=xy+—
69 ZOXy 16

17 2
470) —(1£x2 + —gxy 333 2)

84\ 38 48 37

2
472) 2204u v(

7
71v2 — 76uv + —U?
11

8
474) —(-97uv + 1= 22 2 4 482
13 35" 56

476) 178014 24 772850 - 192
27\ 13 75 79

619ab?
40

7
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479)

93y 89 ,
481 605 + 4 Exy + 37D
) 31( Xy 98y)

483) 3476 +42 7><y+ 1§y2

7111 5, 2
14" 64 3

485)

1447%2
&

7 1
2 2
X +31l—xy—-1—
91 7 15xy Zy)

3wy, .9 , 22
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) 97 (y 10" 27

489) — UlaD2 12w +13Ly
10\ 58 31 50

+1tah+ g

491)
13° T 260 38

13ab( 10.,,1

493) 12 (12 agtap s 1—b2
a7\ 19° 19

495) 141(1 2233 56 2)

-2—xy+41—
69\8 6lxy 85y

1841mn

497) (71m2 + 12—Zmn - 13n2)

52

1
480) 44— 2192 12 - L+ 49202
55\ 66 10 30

482) 1—9 43m +201mn+16in2
69\ 51 2 57

15y 1
484 1= -1
) 83( 3 Xy 1oy)
3
486) 183302 + Sy + 12812
5 55 17

2 7 1
488) ﬂ(_)@ _5_0 __O 2)

12 \24 51 13

1043x°3 (1 1
490) 22X (—9x2+30ﬂ B 2)
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6
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237mn?

496)
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7% 21
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+36—xy+3—
26 19Xy 99 Y

- 26-



519)

1244u

521) 5—b(
3

523)

759y (
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1341 43
536) uv (4067 2,33 )

+1—uv———V
40 98 40 100

20x%y 10 , .59 ,
538 2xy + —x* +1—
) 61 (Xy 67 717

-27-



95\ 30 13 22
22 2
543) <y 1EX2 == 23y2
73\ 41 23 10
5 35,67
545) 46—|45xy + 10—x“ +5—
) 18( VT 80y)
1238y(,. 5 » 23 ,
547) ——|25— 42 5—
) %5 ( 36" YT 58y)

1 7
549) 3-——|(38u? + 203 v+ 33202
47 10 98

551)

2112°(3 5
60

4—3ab 1—b2)
9

553) 45— L2 30+ 36—b2
75\"78° 68 100

37
555) 115( i

7_
22\48 84

5m° 58
( 021mz _

33

n+ 6§n
57

2 2
540) M2 13 oL
82 38 70 39

16(. 37 24 39 69
542) 17—|29— —Xy + 61—
) 89( xy 86y )
241x

544)

-82y? + 23352
11 10

6
+23—
- xy)

31uf__ 87 1 2
546) —(22— 8 v ntw+132
32\ “o2" 5 88

77%(,,40 » _, 19 5
548 23 %% -1y + 32—
) 39( 63 62 38y)
7(__25 , 19 14
550) ——[55ox? — =Xy + 43—
) 17( 7% " 20" 23y)

552) 1—xy +4—y?

97x%y 110, 69 72
T 73 77

7 29 , 56
554) 24—|10xy + 27—Xx° + 23—
) 57( a4 33 69 y )

556) 38~ +18—y

Bo, 3 1590
96\18" 10 66

2 , .53, .13
558) 15[-74y? + 12>x2 + 13==
) 3( Y s 4oxy)

-28-



41
559) 442719302 + 20 1y - 122 560) 3¢C (53 X2 + 3 xy+31§y
25\ 95 8 65 62 56
1413x%y (., 9 23 26 411y(25 , 4 3,
561) ———= +29 +18— 562) —2—x? +32—xy +
) 31 ( 14" 2" 41y) ) 46 (47 617 117
73u?v? 1
563) UV (16212 + 1Ly - 12V 564) O (3232 4 2820152
53 11" " 69 9 13 \* 84" 31 38
521x (1,89 2, 5,41 4 3xy 4, 58
565 11—x2 + 32——xy + 42— 566 31xy +—x% + 38—
) 60 ( 94 707 41y) ) 74( YTy 59y)
88a(21 2417a?
567) —|—a® - U+t b2 568) 26b% + 50282 + 6—-ab
67 \53 49 66 38
17
569) L] PYENCI soﬁxy+ 11y2 570) 82418 e _ 3o - 102
11\ 6 78 6 95\ 53 68 23
571) 12[150x2 + 4925y - 1212 572) 189M(0 2 338 328
4\ 730" 31 84 10 \11" U1 93
631y*[._19 24202 5 (5192 4 71,
573 17— 24 50— 574) 1—(6—x? - 14—xy + 38—
) 17 ( 36" 77 y) ) 24( 98~ 7Y " osY
575) 22 o+ 924 2% 2 576) D0 (131 2, 41 xy+3O 36y
32 63 51 38 | 68 37
11 7
577) T (-50v? + 3420 + 46201y 578) 1oL ( I + iy + 2
5 52 89 30la7" "0 34

-29-



4 1 4
579) Bg20,0 +—6xy——5 2
53\ 57 237 52

3

202

2
581) 15b (14 o2

ab+7= bz)
74 \15

583 +=
) 95 Xy +—y

2
Y (g1 30,4 3y
63 93 8

585) 91n(4 2, .4 23 )

+1—mn+46—n
17 \9 93 30

587)

124x
X3t - 150y 9By
81 \ 74 "70° 64

23(,,18 , 1 21
589) “=[41==x% + Zxy + 475
) 45( 3¢ 1Y 71y)

591)

89 91 Y

4y ix2 + 38Qxy— 1§ 2
31\17

593) @( g2 2y2)

X
59\ 20 29)(y 3

595)

2
100971 7 2y 168 v+ 243L2
67 \30 13 79

1 19

9><y 21—y2)

597) 1943 31x* +8
88 36

61(.74 , 14 5
580) 21— 2-—x? + =Xy — —
) 66( 15" 88y)

17 23
582) 37§ oz 1D+ By
88130 67 36

584)

8M() 812 1+ 42 + 5242
3 50 14 32

575x2y(11_0X2 NECNUPYA )

586) +28—y?
24 \"83" 61 83

4x 24 , 1,
588) —(xy+16—x"+1—
) 3) (xy 65 49y )

1429uv®
590) ﬂ(

1
58uv + 1§u2 +1-V2
91 9

592) 32— 2—u - —uv+48—V?
87

23 15 49 ,
52\ 41 17

1195xy

8 2
594 38x2 +1—xy+ 1=y?
) ( YTy )

7 2
506) 12 (12302 + M op 4+ 27832
8 \ 97" 69 86

1[, 2 4 23
598) 17=(1-x% - 1=xy + 11
) 2( 23 5" 36y)

-30-



77m?n
509) 1°0(a7- % 22 — 13 ah + 1022 600)
o5\ 510 o7 69

81mn + 183m2 - 11n2
38 2

-31-



MATHX.NET

Multiplying polynomials - Fractions - Simplify product of monomials and trinomials

Simplify product of fractionswith two variables:

X 1

1) —{7x*+xy-1=y?

) 2( Xy 3y)

3 —(—m —2—mn—2§n2)

4

4 1

5) —{-y* +2x*+3=

) 3( y 6><y)

7) ﬁ(2§x2 - 1%xy + 1yz)

14
11) 25u + 1uv+ 1§v
7 3 8
17 2 1
1—U? +—uv+ 1—V?
21 9 12
7ab
13) —( a’ - 1§ab - 13b2)
2 3

5
3= a3b 6= azb2 5—ab®
2 8 6

15) 3—b(7b2 32-12 ab)
5
atpp+ Zpa2 -1t i2a
5 25 10

5mn? 1 1
17) 2m? + =mn — =n?
3 2 2

1 5 5
3=m°n? + =m?n® - =mn*
3 6 6

8n 1
2) —|2mn + I
5 7 2
4
31n2m + 6§nm2 +—n°
5 35 5

7 2, 3
4) 3o xy+35x2 + 2y
) s(xy 5 7y)

7 7, 37 5
3—xy+13—x"+1—
8Xy 40 56y

33x 3
6) —|-2y* - 2xy + 4=x°
) 5( y -2y +ag )

1 1 7
-13=xy? — 13=x%y + 28—x°
5Xy 5 Y 8

5(,5,2 3
8) 3= +2oxy ——
) 6( 3 8xy y)
15, o7
6,5 +8,.0 -2
28" g~ 8y

Xy 3. 1,
10) —|-6xy+1—x"+1—
) 5( v 5 2y

1 2,,2 8 3 3 3
-1-XYy + =Xy+—
S / 25 y 10)(y

(.2 1 1
12) 1=[2=x? - 2=xy - 1=V?
) 2( 5 4Xy 3y)

3.2_no3 2
3=X*-3>xy -2
5 gy 2y

1o 49 142
X Xy +

4=



19)

3X°(,3 2
3

+3— xy——y)
5 8 1 7 6,,2
20—x" + 16—X —1—x
8 35 y 7 y

21) —(1‘11x2+ =xy + 1y)

211 2+lz+73

5 1
23) —(Zgu2 +=uv+ —VZ)
3 5
1
13902 + Ty + 2002
21

25) 12(8x2 - 11xy - 31y2)

1, 5
27 Y =
T 12y

27) @( + 1fab + gbz)

13—

93a% + 7200207 + 4 L ap?
7 49 8
3, .1
29) 1=[2y? +2=x* +1=
) (y 3 2xy)
2 1
2=y? +3=x°+2
3/ "% Y

31, .5 5,
31) 132[=x2 - 1Sxy +—
) 4(4 Xy y)

8 6
7, 27 1,
22 gy 1
16 32xy 24y
2,4
33) 3X y ( +8 X2 + 1gy2)
4 7
3 27
3V + 62wy 4+ £y
4 4 32 y 28 y
3
35) XY y+132 -1 y?
4 8 2

20) (m +mn+ Zéllnz)

1, 1 9 ,
—m” +—mn+—n
4 4 16

22) 11Txy(xy +4=x2 + 4§y2)

1 1
26) 13602 + 110y - 812
4 3 8
lolu2 + 2£vu - l4lv2
2 3 32

1
28) SX y( 32

3 1
~3 xy+3=
8" zy)

S 7 3 4.3
—xPy-4— +4—x
28 - 32 Y 8 y

11a?

(a2 —-2ab- 11b2)

13 23ab 1 a’b?
8 4 6

1
32) 12 on2 + 22— 22m
7 4

.

2 2
2 Y g)
1(,3.2_ 55

38) 1= -3=xy - 2=

) 8(5 - y)

4. 7
1-x* -4 -2—
5" zsxy 16y



19v3

39) 2w + 1512 + 1002
3 8

735 a2 4 7y
5 15 8

41) (u +uv-— 2—v)

43) — 2taz+12an+42 b2
5\ 2 3
1288 + 2a?p + 12002
5 3 7

3

45) (4a +34ab+1 b2)

ZEa2 + Zlba + 1£b2
5 4 25

3y 52
47) —|1=x"-2=xy-—
)8(8 3xy y)

39 22 S8
yxyl6y

1 1
49) el ey 33m -2t
7 4 8
7§m‘°’ +52m2n - 3?2
7 8 16
3y(3 , .5 2,
51) 222X + 22xy + 45
) (5 7YY )
9
—yxz + 12y2x - Zgy3

53) —( 1 2 2xy+2y)

3\ 2 3

4 4
6 5 4,2
X" ==Xy +—X

9 y 9 y

5(, .4, .1
55) 1-{y? +1-x?+1=
) G(y . 2xy)

5, .37, .3
12y2 +2°5x% 4+ 2=
6 a2 g

13y 1,
57 22 +42xy+ 12
) 6( Y 2y)

4ty + 10T y2x +31yP
SyX gy 4y

1 1
3=x*+8=xy + 3=y?
4 PR

1, 6, .4
44) 1-[y? +=x*-1—
) B(y - 5xy)

1, 27, .1
1-y2+ 532 -2 —
g’ "8 20"

1(.5 , 3
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